[ Efficiency vs vertpos |

— 0.5:
C0.45F
4 E
> 04F
Q F
50.35_—
= E
£ 0.3
0.25

- - - - L

e
"
T
-

-+

|4

0.95L :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit5_TTold-lowpt

Effici —e— DQM_mKFit_TT_retrain-lowpt
ICIeNd __,__ pQM_mkFit_TT_NEWdefault_specPLess3-lowpt

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

Ratio
N

10 20 30
TP vert z (cm)

o

15

o

o

|

O *
[

=

o

o

[ Efficiency vs. sim PV z |
~ 05
>

Q. 0.45
IS

5 04
£0.35

&
c 0.3
)
Q

._.
I
H
1
T
4
n
1
+
A

05 S U S

0515510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


